	2018 STATE FLORICULTURE PROBLEM SOLVING TEST

	Student Name:________________________________________________    Score:__________________

	Chapter:_____________________________________________   Contestant Number:_______________

	Directions: Read each question carefully and choose the best possible answer.  Record your answer choices on the provided Scantron sheets, by correctly bubbling in your answer.  Round all answers to 2 decimal places.  Each correct answer is worth 10 points.

	_____ 1.
	If one ounce of seeds has 4,500 seeds with an 89% germination rate, how many ounces of seeds need to be purchased to produce 24,000 seedlings?

	
	a. 3

	
	b. 4

	
	c. 5

	
	d. 6

	_____ 2.
	A wholesale florist sold 60 gerbera daisies to a retail florist for $92.  The retail florist returned 12 of the daisies because the flowers were pale and the tips were turning brown.  If the wholesaler refunded the full purchase price for the returned flowers, how much was the total refund?

	
	a. $12.00

	
	b. $15.33

	
	c. $18.36

	
	d. $73.64

	_____ 3.
	A decorator’s bow requires 1 piece of ribbon 6” long, 1 piece 18” long, 1 piece 24” long, and one piece 32” long.  How many yards of ribbon are needed to make 50 bows?

	
	a. 80

	
	b. 112

	
	c. 222

	
	d. 4000

	_____ 4.
	If it takes 1 cubic foot of potting soil to fill five 10-inch hanging baskets, how many 3.5 cubic feet bags are need to plant 1,500 hanging baskets?

	
	a. 76

	
	b. 86

	
	c. 96

	
	d. 106

	_____ 5.
	[bookmark: _GoBack]A greenhouse is 30’ wide and 100’ long.  If the final spacing for 6” poinsettias is 15” x 15”, what is the maximum number of pots that can be placed on the floor if there is a 3’ walkway across one end and a 3’ center aisle the entire length of the greenhouse?

	
	a. 1,433

	
	b. 1,673

	
	c. 1,678

	
	d. 1,923

	_____ 6.
	An invoice listed three available discounts: 5% for early payment, 3% for early ordering, and 3% for buying bulk quantities.  If the local florist qualified for the early payment and bulk discounts, what would the final bill after 7.5% sales tax was applied if the original bill was $4,223.76?

	
	a. $3759.15

	
	b. $3885.86

	
	c. $4041.09

	
	d. $4177.30

	_____ 7.
	A retail flower shop is holding a 15% off clearance sale on their left over chrysanthemums that were originally priced $6.99.  Including 7.5% NC sales tax, what would be the total price if a customer purchased 16 plants?

	
	a. $85.00

	
	b. $95.06

	
	c. $102.19

	
	d. $111.84

	_____ 8.
	How much is the total before tax for a decorative planter if the wholesale cost was 79.49 and the retail markup is 30%?

	
	a. $23.85

	
	b. $103.34

	
	c. $109.49

	
	d. $119.99

	_____ 9.
	If you are making a batch of hydrating solution for a new shipment of cut flowers and the mixture ratio is 3:1 water to nutrient solution, how much nutrient solution is needed for 1 gal of hydrating solution?

	
	a. 1 pint

	
	b. 1 quart

	
	c. 3 pints

	
	d. 3 quarts

	____ 10.
	It takes 8 inches of florist’s wire to make a corsage.  The wire comes standard in 18 inch lengths.  How many pieces of wire will be needed to make 17 corsages?

	
	a. 8

	
	b. 9

	
	c. 33

	
	d. 34
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